() B R 7 bR e R
AR ST R e B QR 0+3

(5) TR 2T ST SAGIFER Bz 3 371 3+

ol (T PR S0 Avag TEF W6 : yX30

@ () mm%wmmummWﬂhM|m
wﬁﬂéﬂﬁ!ﬁﬁﬁwwr

(i) CoNGTeT R I TN oro+yHy

(b) (i) SUPBRTTIR I 031 SPAFD (CTSAATITHR CFTR
m«mmmﬂmﬁmm
WI L 2 o

(i) FTFFCI T e g7 e A A
NS e HOHO+Y

C/18/B.Sc./2nd Sem/PHYE/GE2T TB—1300

Total Pages—6  C/18/B.Sc./2nd Sem/PHYE/GE2T

2018
2nd Semester
PHYSIOLOGY
PAPER—GE2T
(Generic Elective)
Full Marks : 40
I‘Eme : 2 Hours
The figures in the margin indicate full marks.

" Candidates are required to give their answers in their
own words as far as practicable.

Ilustrate the answers wherever necessary.

1. Answer any five Questions : : 5x2
(a) What is blastocyst ? 2

(b) What is morphometric movement during mammalian
development ? 2

(c) Define teratogens. Write down its impacts on fetal
development. 1+1
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Answer any four Questions : . 4x5 .

(a)

(b)

(c)

(d)

()
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What is yolk sac ? What is its significance ? 1+1

Mention the primary step in organogenesié of
chordates. : 2

What is histogenesis ? ‘ : 2

What are diploblastic organisms ? Give example.
- 1+1

Which type of cell division is predominant in
cleavage ? What is microlecithinal egg ? 1+1

What is organogenesis in embryo ? Name the organs

developed form each of the germ layers. 2+3

Wnte a brief note on cleavage in cmbryogenems
What is cleavage plafe ? ! e SRR - |

Write down the role of egg-yolk in cleavage. What is
noogenesis ? : 3+2

Write down a brief note on preventlon of polyspermy
during fertilization. S

What do you understand by fertilizin-antifertilizin

‘reaction and acrosome reaction in sea-urchin ? 3+2

(Continued)

() Draw and describe the ultrastructure of mammalian
sperm. A

(a)

~ 3. Answer any one Question :

(@

(i)

(i)

(i)
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1x10

Describe the differentiated structure of ovary
and testes in human. How does the mature
ovum form ?

What is gonadal ridge ? 3+3+2+2
What is gastrulation ? Write down the concept of

induction and germ layer determination in
embryonic development. 5

What is differentiation ? What is the major mode

- of its underlying mechanism. ‘ 3+2

(Turn Qver)
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